

GOVERNMENT OF KERALA

Abstract

Health and Family Welfare Department - Director of Medical Education - Centrally Sponsored Scheme - Centre of Excellence to Trauma & Bums units, Govt. Medical College, Thiruvananthapuram under "National Programme for Prevention and Management of Trauma and Burn Injuries (NPPMT&B1)"- Administrative Sanction accorded - Orders issued

HEALTH AND FAMILY WELFARE (P) DEPARTMENT

G.O.(Rt)No.1858/2025/H&FWD Dated, Thiruvananthapuram, 05-07-2025

- Read 1) Letter No.V-28017/65/2024-H-II dated 19.03.2025 from the Trauma and Burns Unit, Ministry of Health and Family Welfare, Government of India
 - 2) Letter No.PA2/7703/2024/DME dated 23.05.2025 from the Director of Medical Education, Thiruvananthapuram

ORDER

As per the reference 1 st cited, the Government of India has accorded sanction to release an amount of Rs.1,20,00,000/- as 1st installment for the financial year 2024-25 for carrying out various activities and items in the capacity as Center of Excellence to Trauma and Burn Units at Government Medical College, Thiruvananthapuram under "National Programme for Prevention and Management of Trauma and Burn Injuries (NPPMT&B1)". As per the letter read as 2nd paper above, the Director of Medical Education has forwarded a proposal for according Administrative Sanction for the scheme.

2) Government have examined the matter in detail and are pleased to accord Administrative Sanction for the scheme Centre of Excellence to Trauma & Burns unit at Government Medical College, Thiruvananthapuram under "National Programme for Prevention and Management of Trauma and Burn Injuries (NPPMT&BI)" utilising the fund sanctioned for the scheme as detailed below;

Sl No	Name of the Item	Approximate cost (in Rs)
1	Hand Holding	2,50,000
2	Training & Skill Development	30,00,000
3	Promote innovation, Research & Technology	5,00,000
4	Develop & Share best practices	2,00,000
5	Awareness & IEC	2,00,000
6	Equipment & etc	78,50,000
	Total	1,20,00,000

List of Equipment

Sl	Item	Qty	Unit Cost	Approximate
No			(Rs)	Amount (Rs)
1	Defibrillator with cardiac	2	2,38,728	4,77,456
	monitor with pacing			
2	Defibrillator with cardiac	3	1,88,440	5,65,320
	monitor			
3	Fiberoptic bronchoscope	1	12,73,899	12,73,899
4	Scrub Machine	2	1,30,000	2,60,000
5	OT Table - Electric - B	1	3,24,000	3,24,000

	Total			78,50,000
17	Central Oxygenation for transit ward (Ward 22)	1	4,35,877	4,35,877
16	ECG Machine 12 Channel	3	1,04,160	3,12,480
15	Spine Board	5	10,000	50,000
14	Multipara monitors	10	1,12,000	11,20,000
13	Surgical instruments	1	1,85,300	1,85,300
12	Syringe Infusion pump (Dual)	20	62,216	12,44,320
11	Ultrasonic Cleaner	1	36,816	36,816
10	Patient Warmer	3	81,619	2,44,857
9	Patient Transport Trolley with portable Oxygen Cylinder	10	50,417	5,04,170
8	Patient Transfer trolley	10	7,650	76,500
7	OT Light - LED	1	4,92,800	4,92,800
6	Mini floor cleaning machine	5	49,241	2,46,205

3) The Nodal Officer should put up the proposals regarding Training, RnD, Develop and share best practice, IEC and as per the approved proposal actions to be taken. The progress report shall be submitted monthly for ensuring timely completion.

(By order of the Governor)
SUBHASH R
ADDITIONAL SECRETARY

To:

The Director of Medical Education, Thiruvananthapuram

The Principal, Government Medical College, Thiruvananthapuram

The Superintendent, Government Medical College, Thiruvananthapuram

The Principal Accountant General (Audit)/ (A&E), Kerala, Thiruvananthapuram

Information Officer, Web & New Media

Stock File / Office Copy (P1/1/2025-HEALTH)

Forwarded /By order

Section Officer

Copy to :- PS to Additional Chief Secretary, Health Department